
Mounting instructions

5-667-0X

Waste Trolley 2-4 Bins



 

 

 

Mounting instructions

1

2

5-667-10

5-667-10

8-814-0

8-814-1

8-814-1

8-814-0

M10X30K6S

5-667-13

5-667-14

5-667-14

M8X20-912-Z

K6S M8x45



 

 

Mounting instructions

3

4

5-667-001

M8X12-7380-Z

5-667-001

5-667-003

M6X10-7380-Z



Mounting instructions

5

6

9-22050-901


